
Comprehensive Math Programs Pack Instructional Punch
DynaStudy’s student-focused product development process results in tools and activities that put 
student learning first. Multiple choice question after multiple choice question may yield lots of data, 
but the instructional value of this approach is limited. By including whole group warm-ups, an explicit 
instruction resource, student scaffolding, and a striking variety of engaging activities (see reverse) 
- all with strict alignment to the eligible TEKS - DynaNotes math programs pack a more powerful 
instructional punch. Everything one teacher needs starts at just $278.50 - easy on your budget and easy 
to use (you only need a computer with a CD drive or USB port, ideally with projection capability).

4 Whole Group Warm-ups   
Starting with a question is a proven method 
for engaging students in the content. Insert the 
Teacher CD or thumb drive into your PC or 
Mac and navigate to the “Lesson View,” where 
information is provided for the teacher (TEKS 
alignment, materials list, assigned student 
activities for that lesson, etc.). Here you will find 
warm-up questions and ideas that may set the 
big picture, explore a relevant problem, and even 
remind students what helpful information is, and 
is not, in the TEA reference chart. 
 
Program Materials:                     or

4 Explicit Instruction & Student Scaffolding  
Before exploration and discovery begin, most 
students benefit greatly from clear, organized 
explicit instruction, and research shows that 
visual aids, such as the DynaNotes student 
course notes, make that instruction even more 
effective. Explanations are even more powerful 
when students can revisit helpful information as 
needed to complete assigned activities.  

Navigate to the “Notes View” and use the 
content and examples in whole group instruction. 
The printed notes will be there to help your 
students when you can’t be at their sides. 

Program Materials:                     or                and
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 SOLvING ONE vARIABLE EqUATIONS      
A solution is any value that makes a statement true. For a one variable (no  
exponents) equation, there can be 0, 1, or an infinite number of solutions.
Examples: 2c = 1

2 (c - 8)
2c - 12 c = 1

2 c - 4 - 12 c
4
2c - 12c = -4; (2

3) 3
2c = -4(2

3)
c = -8

3   = -22
3  = -2.6

15 - 3x = 22 - 6(1
2 x - 13 )

15 - 3x = 22 - 3x + 2
15 - 3x + 3x = 24 - 3x + 3x
15 = 24 g never true

0.2k - 1.8 = 2(0.1k - 0.9)
   0.2k - 1.8 = 0.2k - 1.8
- 0.2k          - 0.2k
-1.8 = -1.8 g always 
                          true

exactly 1 solution for c no solutions for x infinite solutions for k
Substitute solution(s) into original equation to check work or find value.
2(-8

3) = 1
2 (-8

3  - 8); -16
3  = -8

6  - 4; -16
3  = -4

3  - 12
3 ; -16

3  = -16
3  g true: -8

3 is a solution
Models can also be used to solve one variable equations.
Example: Harry sells candles for $6.00 each. Each candle costs $2.00. 
He rents a stall at the fair for $15.00 per hour for 8 hours. If his costs 
equal his sales, find his total sales.   g Let c = # of candles sold
          

Or, solve one variable equations by treating  
each side as a simultaneous linear equation.

 SOLvING SIMULTANEOUS LINEAR EqUATIONS      
Identify values of x and y that satisfy two simultaneous linear equations  
by graphing each. The intersection(s) of the graphs is the solution(s).
Examples:  
3x = 4(1

2 x - 14 )
3x = 2x - 1 
graph: y = 3x 
and y = 2x - 1
ordered pairs:
{(0, 0); (1, 3)}
{(0, -1); (1, 1)}   intersection
solution: exactly 1 solution at 
x = -1 [value that gives same 
result (y = -3) for both sides  
of equation, making it true]
Isolate x in 3x = 2x - 1 to solve.
3x - 2x = 2x - 1 - 2x g x = -1 
y = 3(-1) = -3 or 2(-1) - 1 = -3

 SLOPE Of LINEAR fUNCTIONS       
slope, m : for any linear function, the rate at which the y-values change  
compared to the change in the x-values; coefficient of x in y = mx + b

Linear functions
y = mx + b, where b = 0 y = mx, y = ax, y = kx, or d = r t
for any two (x1, y1) and (x2, y2):
slope, m = change in y

change in x  = rise
run  = (y2 - y1)

(x2 - x1)

(0, 0) is a point, so for any (x , y):
m, a, k, or r = change in y

change in x  = (y - 0)
(x - 0) = y

x

Similar right 
triangles or
(y2 - y1)
(x2 - x1)

 show 
ratio change in y

change in x
is constant for  
any 2 points:

-0.5 (down)
1 (to right)  = -1 (down)

2 (to right)  = -1
2 = -0.5 = m

2 (up)
1 (to right) = 4 (up)

2 (to right) = 2 = m 
(y2 - y1)
(x2 - x1)

 = [-2 -(-2)]
[3 -(-3)]  = [-2 + 2]

[3 + 3]  = 0
6 = 0 = m

m = -1
2 = -0.5

m = 1
1 = 2

2 = 1
Slope is rate 
of change and 
unit rate. For a 
proportion, it is

also the constant of proportionality:
y = -1

2x : y-value changes by -1
2 for  

every 1 unit increase in x-value, and 
y is -0.5 as large as x : y

x = (-1.5)
(3)  = -1

2

Example: 12 mirrors cost $9. Graph the total cost, y, of x mirrors. 
Describe the slope, unit rate, and constant of proportionality.
g Slope = 9 (up)

12 (to right) = 9 ÷ 3
12 ÷ 3 = 3

4  = 0.75
g Unit rate = amount for 1 mirror = $0.75

mirror
g Constant of proportionality = y

x = $9
12 mirrors = $0.75

mirror
g y = 0.75x  is a proportion (cost is 
     proportional to number of mirrors), 
     so the slope equals the unit rate

 Category 1 – Numerical Representations & Relationships 
 REAL NUMBERS         
irrational number: real number that cannot be expressed as a ratio

real 
numbers

rational 
numbers
{a

b , b = 0}

integers
{...-3, -2, -1, 0, 1, 2, 3, ...}

whole numbers
{0, 1, 2, 3, 4, ...}

counting  
numbers

+,- fractional values
(e.g., -5

3, - 2
10, 0.1, 0.3, 2

4) 
negative integers
{..., -4, -3, -2, -1} {0}

Approximate irrational numbers with rational ones (e.g., π  3.14 or 22
7 ). 

Learn squares (e.g., 112 = 121; 122 = 144; 132 = 169; 142 = 196; 152 = 225).  
Examples: Estimate  
the value of √ 2 to  
the nearest tenth.
Which point represents each? 
√ 5, π, √ 15, - 1

3π, -1, 11
3  Classify.

g √ 5 : 22 = 4, and 2.22 = 4.84 and 2.32 = 5.29, so 2.2 < √ 5 < 2.3
g π  3.14      g √ 15 : 42 = 16, so a little less than 4, √ 15  3.9 
g - 1

3 π: 3.14
3   3.15

3  = 1.05, so - 1
3 π   -1.05  g 11

3  = 9
3  + 2

3  = 3 2
3  = 3.6

Answer: {√ 5, π, √ 15, - 1
3π, -1, 11

3 } is represented by points {E, G, I, B, C, H } 
√ 5, π, √ 15, - 1

3π are irrational. -1 is rational and an integer. 11
3  is rational.

Approximate and order  
the two diameters and  
the square’s side length. 

 SCIENTIfIC NOTATION        
scientific notation: number is expressed as a factor times a power of 10;  
factor must be greater than or equal to 1 and less than 10 (e.g., 3.1 x 109)
from To Conversion Method
 standard 
 notation
 0.000035
 1,200.8

scientific 
notation
3.5 x 10-5

1.2008 x 103

1. Move decimal point until there is exactly 1 non-
zero digit to the left of the new decimal place.

2. Count the decimal moves to find the power of 10.
    (# to right = -exponent; # to left = +exponent).

 scientific 
 notation
 2.05 x 10-4

 1.01 x 106

standard 
notation
0.000205
1,010,000

1. Identify the exponent. Move decimal point this 
many places to new location (if a -exponent, 
move to left; if a +exponent, move to right).

2. Add zeros as needed. Remove the power of 10.

 Category 2 – Computations & Algebraic Relationships 
 ONE vARIABLE EqUATIONS AND INEqUALITIES      
Write equations and inequalities to represent real-world situations.

verbal Description Equation or Inequality
The perimeter of a rectangle is three times  
the length, l. The rectangle’s width is 1.7 in.

P = 2l + 2w, and P = 3l, so
3l = 2l + 2(1.7)

Sue’s account balance is $19 less than 
twice the minimum, m. Kay has a smaller 
balance, and it is 1.5 times the minimum, m.

Kay < Sue; Sue = 2m - 19,  
and Kay = 1.5m, so 
1.5m < 2m - 19

What real-world situation could an equation or inequality represent?
Equation or Inequality A Realistic verbal Description
Monthly cell phone  
usage in minutes, t
25 + 0.05t > 30 + 0.03t

Plan A is $25/mo plus $0.05/min. Plan B is  
$30/mo plus $0.03/min. Cell phone plan A costs  
more than plan B for t minutes of cell usage. 

Number of months of 
spending or saving, m
5,230 - 50m ≤ 550 + 110m

Ben has $5,230. He spends $50/mo more than 
he earns. Ty has $550. He saves $110/mo. Ty 
has at least as much as Ben in m months.

Recall methods for (1) simplifying expressions, (2) isolating a variable:
order of operations: 1. Groupings; 2. Exponents; 3. Multiply/Divide left 
to right ; 4. Add/Subtract left to right
distributive property: a (b + c) = ab + ac
Example: 1 - 2(3x - 4) = 1 - 6x + 8 = -6x + 9
do unto one side as you do unto the other: perform the same operation  
to each whole expression on the left and right of the = or inequality symbol; 
inverse operations strip terms and coefficients away from the variable
reverse inequality sign: if dividing  
or multiplying by a negative value

{1, 2, 3, ...}
irrational 
numbers {e.g., √ 5, π}

g find adjacent integers: 12 = 1; 22 = 4; so 1 < √ 2 < 2
g guess/check or use calculator: 1.32 = 1.69;  
    1.42 = 1.96 (close to 2); 1.52 = 2.25; so  √ 2  1.4

-2 0 2 4-1 1 3

ABC D EF G HI

A = 66π 
cm2

C = 44 
cm

A = 220 
cm2

g A  = 66π = πr 2; r  = √ 66 ; 82 = 64, so r  is near 8; 
    8.12 = 65.6, so r   8.1; d  = 2r , so  d   16.2 cm
g C  = 44 = πd; d = 44

π   44 ÷ 22
7  = 44 x 7

22; d    14 cm
g A  = 220 = s 2; s  = √ 220; 152 = 225; 142 = 196, so 
    14 < s  < 15 (closer to 15 than 14);  s    15 cm
         Answer: 14 < 15 < 16.2, so d  < s  < d

 1
 2

ggg

a + (-a) = 0 a = 0: a • 1
a = 1

a + b = b + a ab = ba
a + (b + c) = (a + b) + c (ab)c = a(bc)

Example:  
-6x + 9 ≥ 19

-6x + 9 - 9 ≥ 19 - 9;  -6x  ≥ 10;
-6x
-6  ≤ 10

-6; x  ≤ -10
6       = -12

3 ; x  ≤ -1.6 5
 3

y

       -1   0    1   2   

3
2
1

-1
-2

x

(-1, -3)

Ed has $20. He adds 
$5 each day. Nel has 
$10. Each day she 
adds $8 and takes out 
enough to buy two 
teas for $1.50 each. 
When will Nel and Ed 
have equal amounts?
MEd = 20 + 5d
MNel = 10 + 8d - 2(1.5)d = 10 + 8d - 3d = 10 + 5d
g Never. Nel has $10 less at all times.
If Nel begins with $20, when would Nel 
and Ed have equal amounts of money?
g Always. MNel = 20 + 5d would graph 
    on top of MEd, so MNel = MEd for all d.

30
20
10

M

d0      1    2    3    

M
on

ey
 ($

)

Time (days)
no intersection 
(lines parallel), 
so no solution

c= c
c
c

c
c

c
c

g costs = ($15/hr)(8 hr) + ($2.00/candle)c
g sales = ($6.00/candle)c, and costs = sales
g (15)(8) + 2c = 6c g 120 + 2c = 6c
g from model, c = 30, so sales = 6(30) =  $180
gCheck: costs = 120 + 2(30) = 120 + 60 = 180 3

model shows 4c’s are 
120, so 1c is 30 candles

Non-proportions Proportions

y

3
2
1

-1
-2

x

y = 2x  - 3

y = -1
2x  + 1

2
10.5

2
1

4

       -1   0    1   2   

2

y = -2

y

       -1   0    1   2   

3
2
1

-1
-2

x

y = x
y = -1

2x
10.5

2
1

1
1

2
2

Co
st

 ($
)

# of Mirrors

y

x

12
9
6
3
0     3    6    9   12 

0 mirrors  
cost $0

(3, -1.5)

(3, -2)
(-3, -2)

Example: -6x + 9 = 19x
g y1 = -6x + 9;  y2 = 19x
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C2, Solving  

One-Variable Equations

Skill Builder Activity 16 - Modeling One-Variable Equations

Circle the correct model for each one-variable equation.

1.  8 + y = 2y + 2

2.  2c + 25 = c  + 5

3.  4x + 2 = 3x - 4

     Model A:

     Model A:

     Model A:

     Model B:

     Model B:

     Model B:

Model a simplified equation by crossing out the common variables or constants on each side of the original equation's 

model. Use the remaining variables and constants to write a more simplified equation. An example is given for you.

Example:  6y = 2y - 2
4.  3z + 2 = 2z + 4

5.  x = 2x - 4

     Simplified Equation:  4y = -2      Simplified Equation:
     Simplified Equation:

6.  r  + 15 = 3r  + 5

7.  4 + 2b = b + 6

8.  3y + 0.2 = y + 0.4

     Simplified Equation:
     Simplified Equation:

     Simplified Equation:

Finish the models by writing the missing number or letter in each empty box. Use the models to answer the questions.

9.  2c  + 120 = 6c

What does c  equal?

10.  4x = 2x + 20

       What does x equal?

8
y

y
y

2

y y y y y y y y

y
y

2

c

c

10

10

5
c 5

=

c

c

25
c

= c

x x x x

+1 +1

x x x

+1 +1 +1 +1=

x x x x

+1 +1

x x x

-1 -1 -1 -1
=

y

y
=

y

y

y

y

y

y

-1

-1

z

z
=

z

z

z

1

11

1 1

1

z  = 2

=
x

x

x

-1

-1

-1

-1

0 = x - 4

c

=

r

r

5

5

5

5
r

r

10 = 2r

=

b 2

2b

2b
2

2

b = 2

c

c

y

=
y

y 0.1

0.1

0.1

0.1

2y = 0.2

y

0.1

0.1

=

c

c
30

30
c

30
cc

30

c

c

c
30

x
x

x
x

x
x

20

10
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Activity 48 - Reflections

C3, Congruence  

Transformations

Skill Developer

Reflect figure ABCDE across the x-axis by determining the  

new vertices, sketching the new figure, and labeling it  

A'B'C'D'E'. Next, reflect figure ABCDE across the y-axis,  

labeling it A' 'B' 'C' 'D' 'E''. 

Preimage's 
Vertices:  

A

B

C

D

E

ABCDE Reflection 

Across x-axis:  

A'

B'

C'

D'

E'

ABCDE Reflection 

Across y-axis:  

A''

B''

C''

D''

E''

Read each statement below. Write is or is not in each blank to make a true generalization about reflections.

1.  A reflected figure                 always congruent to its preimage. Congruency                 always preserved.

2.  A reflected figure                 always the same size and shape as its preimage.

3.  A reflected figure                 always the same orientation as its preimage.

4.  The center of a reflected figure                 always located at the center of its preimage.

5.  If Point A' is located above Point B' in a reflected figure, then Point A                  always located above Point B in 

its preimage. If points are in clockwise order in a reflected figured, then the order of the corresponding points in its 

preimage                  always counter-clockwise.

Look at the coordinates for the vertices listed at the top of this page for ABCDE, A'B'C'D'E', and A' 'B' 'C' 'D' 'E''.

6.  When a point is reflected across the x-axis, explain what happens to the x-coordinate.

7.  When a point is reflected across the x-axis, explain what happens to the y-coordinate.

8.  When a point is reflected across the y-axis, explain what happens to the x-coordinate.

9.  When a point is reflected across the y-axis, explain what happens to the y-coordinate.

For each reflection in the table below, identify whether it represents a reflection over x-axis or reflection over y-axis.

10.  (x, y) g (-x, y)
14.  (x, y) g (x, -y)

11.  (-5, 1) g (-5, -1)
15.  (6, -4) g (6, 4)

12. (8, 0) g (-8, 0)
16. (-8, -1) g (-8, 1)

13. (0.5, 0) g (0.5, 0)
17. (0, 3) g (0, 3) 

is

(-3, 5)

(0, 2)

(-4, 1)

(-5, 2)

(-5, 4)

x

y

1 2 3 4
-4 -3 -2 -1

1

2

3

-3

-2

-1

5 6 7

4

5

-4

-7 -6 -5

A

B

C

E

D

A'

B'
C'

E'

D'(-3, -5)

(0, -2)

(-4, -1)

(-5, -2)

(-5, -4)

(3, 5)

(0, 2)

(4, 1)

(5, 2)

(5, 4)

A''

B''
C''

D''

E''

is

is

is not

is not
is not

it stays the same

its sign changes

its sign changes

it stays the same

reflection over y-axis

reflection over x-axis

reflection over y-axis

reflection over x-axis

reflection over x-axis

reflection over x-axis

reflection over x-axis

reflection over y-axis

is
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Activity 56 - Circle Dilations Activity

C3  
Similarity and Dilations

Skill Extender

The three circles below share the same center, Point C. Use them to create three polygons by following the instructions. 
•  Choose 3 to 6 

points on the 
large outside 
circle (activity is 
easier if points are 
spaced apart). Be 
sure at least one 
of the points you 
choose is located 
at the intersection 
of a horizontal and 
vertical gridline. 

•  Using a ruler, draw 
a faint dashed 
line between each 
point and Point C.

•  Wherever the faint 
line segments 
intersect the two 
smaller circles, 
add points to those 
circles.

•  Begin with the 
largest circle. Use 
a ruler to connect 
the points in order 
around the large 
circle with straight 
lines, forming a 
polygon. Repeat 
for the points on 
the medium and 
small circles.

Partner with another student, compare your figures, and discuss the following questions.
1.  Describe the three polygons you and your partner created. What features suggest similarity for each set of figures?

2.  All of the points in a circle are equidistant from the circle's center. Why does this process result in similar figures?

3.  Make Point C the origin of the grid. Choose a dashed line 
that crosses the circles at gridline intersections and label the 
coordinates on all three circles. Calculate the scale factor for 
each reduction [(x', y') = (kx, ky)]. Find the radius of each 
circle. Compare the ratio of the radii to each scale factor.

C

Answers will vary.

The three figures appear to be the same shape, but different sizes. Corresponding line segments appear parallel to each other. Corresponding angles appear congruent.

The ratio of distances to two different circles from point C is constant and equal to the ratio of the radii. Using the dashed lines guarantees the direction from Point C is constant, too. A constant distance-from-Point-C ratio and constant direction from Point C define a dilation through Point C.

(9, 12) g (6, 8), 9k = 6 and 12k = 8 g k lrggmed = 
2
3  

(9, 12) g (3, 4), 9k = 3 and 12k = 4 g k lrggsmall = 
1
3

med. radius
large radius = 

10
15  = 

2
3 ; 

small radius
large radius = 

5
15  = 

1
3  g same

(3, 4)

(6, 8)

(9, 12)
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Activity 24 - Solving Simultaneous Linear Equations Checkup

C2, Solving Simultaneous  Linear Equations
Skill Checker

1.  Tony owns an ice cream truck. He estimates 
his daily expenses are $120 for labor, gas, and 
insurance, plus $0.40 for the cost of each snack he 
sells. He estimates his daily revenue is $1.90 per 
snack. Using the graph below, identify the number 
of snacks Tony must sell in a day in order for his 
expenses to equal his revenue (zero profit).      Daily Expenses and Revenue Per Snack Sold

A  0 snacks
B  40 snacks
C  80 snacks
D  120 snacks

2.  The following table shows Tony's profit (revenue 
minus expenses) for five days. Using the graph 
from question 1, which of the following is the best 
estimate of Tony's revenue on Wednesday? 

     Daily Profit, August 5th to August 9th Wed Thurs Fri Sat Sun$0 - $15 $132 $213 $189A  $190
B  $150
C  $80
D  $0

3.  Which of the following is a possible solution to two 
simultaneous linear equations? A  one x-value and one corresponding y-value: (x, y)

B  no solution (parallel lines)C  infinite solutions (identical lines)D  all of the above are possible results

4.  Which of the following does NOT verify that (1, 2) 
is the solution to the simultaneous linear equations 
y = 2x and y = -x + 3? 
A  For these equations, a graphing calculator outputs  

the intersection coordinates x = 1 and y = 2.B  Both lines intersect the y-axis.C  y = 2(1) = 2 and  y = -(1) + 3 = 2D  When (1, 2) is substituted into either equation, a 
true statement results.

5.  Identify the coordinate pair that satisfies both of the 
equations represented in the graph below.

A  (-6, -2)
B  (-1.5, -0.5)
C  (0, 20)
D  (0, 2)

6.  What is the value of x that solves the simultaneous 
linear equations shown in the graph below?          Distance From Houston

A  1,800 miles
B  2,500 miles

Number of Snacks Sold

Ex
pe

ns
e,

 R
ev

en
ue

20 40 60 80

$30

$60

$90

$120

$150

0

100

Legend

Expense
Revenue

x

y

4 8 12 16

-16 -12 -8 -4

4

8

12

16

-16

-12

-8

-4

C  3 hours
D  1 hour

Time (hours)

Di
st

an
ce

 (m
ile

s)

0.5 1.0 1.5 2.0

500

1,000

1,500

2,000

2,500

0

2.5

Legend

Plane A 
Plane B

y

x

4 Student Activities  
“Variety” can mean a variety of things. Not only do the student activities vary by format - folded paper  
projects, word problems, experiments, partner work, calculator practice, reverse bingo games, etc. - but 
they also vary in purpose, difficulty, and thinking level. Each lesson’s activities are consistently arranged 
to build knowledge, develop skills, extend knowledge and skills, and then check for understanding.

Overview of 95 Student Activities (Assigned in Grade 8 Math Program’s 19 Lessons)
                   95 Activities by Type                            “STAARTM-like”               Calculator-Specific

 
 
 
  *Skill Checkers pose authentic "STAAR-like" questions (multiple choice  
     and bubble response) - to check for understanding and build familiarity.

Program Materials:                     or               (for activity book answer key) and

4 100% Coverage of the Eligible TEKS  
For each lesson, targeted TEKS and additionally 
covered TEKS are identified in the “Lesson View” and 
in the TEKS alignment pdf file shown at right from the 
main menu. At right, the Real Numbers lesson targets 
8.2.A, 8.2.B, and 8.2.D, and includes six activities.

Skill Builders

Skill Developers

Skill Extenders

Skill Checkers*

20% 11%
  80%  
 of activities present  
 challenges other than 
     STAAR-like test 
           questions.

20%20%

31%29%

Sample 
Activity Book  
Answer Key

Pages

Cat. 1 – Numerical Representations & Relationships Targeted TEKS TEKS Standards
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Activity 1 - Real Number Relationships 8.2.A 8.2  The student applies mathematical process standards to represent and use real numbers in a variety of forms. The student is expected to ...8.2.A  ... extend previous knowledge of sets and subsets using a visual representation to describe relationships between sets of real numbers8.2.B  ... approximate the value of an irrational number, including π and square roots of numbers less than 225, and locate that rational number approximation on a number line
8.2.D  ... order a set of real numbers arising from mathematical and real-world contexts

Additionally Covered TEKS: 8.1.A, 8.1.B, 8.1.C, 8.1.E, 8.1.G

Activity 2 - Approximating Irrational Numbers 8.2.B
Activity 3 - Ordering Sets of Numbers 8.2.D
Activity 4 - Ordering Real Numbers Activity 8.2.B, 8.2.D
Activity 5 - Calculator Practice: Approximating 

Irrational Numbers 8.2.D

Activity 6 - Real Numbers Checkup 8.2.A, 8.2.B, 8.2.D
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Activity 7 - Standard and Scientific Notation 
Conversions 8.2.C

8.2.C  ... convert between standard decimal notation and scientific notation
Additionally Covered TEKS: 8.1.A, 8.1.C, 8.1.F, 8.1.G, 8.2.D

Activity 8 - Standard and Scientific Notation Word 
Problems 8.2.C

Activity 9 - Comparing Standard and Scientific 
Notation 8.2.C

Activity 10 - Calculator Practice: Scientific Notation 8.2.C
Activity 11 - Scientific Notation Checkup 8.2.C

Cat. 2 – Computations & algebraic Relationships Targeted TEKS TEKS Standards
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 ..
. Activity 12 - Writing Equations and Inequalities 8.8.A 8.8 The student applies mathematical process standards to use one-variable equations or inequalities in problem situations. The student is expected to ...8.8.A  ... write one-variable equations or inequalities with variables on both sides that represent problems using rational number coefficients and constants8.8.B  ... write a corresponding real-world problem when given a one-variable equation or inequality with variables on both sides of the equal sign using rational number coefficients and constantsAdditionally Covered TEKS: 8.1.A, 8.1.F

Activity 13 - Real-World Problems Using Equations and Inequalities 8.8.A, 8.8.B
Activity 14 - Farmers Market Equations and 

Inequalities Activity 8.8.A, 8.8.B
Activity 15 - One-Variable Equations and Inequalities 

Checkup 8.8.A, 8.8.B
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... Activity 16 - Modeling One-Variable Equations 8.8.C

8.8.C  ... model and solve one-variable equations with variables on both sides of the equal sign that represent mathematical and real-world problems using rational number coefficients and constants
Additionally Covered TEKS: 8.1.A, 8.1.B

Activity 17 - Solving One-Variable Equations 8.8.C
Activity 18 - Real World Equations and Error Analysis 8.8.C
Activity 19 - Solving One-Variable Equations Checkup 8.8.C

DynaNotes grade 8 math lesson & activity alignment to Eligible TEKS

Program Materials: 1 Teacher CD (Lessons/Warm-ups, Explicit Instruction, TEKS 
Alignment, Answer Key) + 30 Student Course Notes + 1 Reproducible Activity Book1

Student Activity Books 
(for program users only)

DynaNotes Math Program Order Code2 Price2 Order Code3 Price3 Order Code Price

Grade 6 Math (ships May 2016) 06MESRIP $278.50 06MESRIPs $100.00 06MESRIP-AB $9.50

Grade 7 Math (ships May 2016) 07MESRIP $278.50 07MESRIPs $100.00 07MESRIP-AB $9.50

Grade 8 Math (ships Dec 1, 2015) 08MESRIP $278.50 08MESRIPs $100.00 08MESRIP-AB $9.50

100-page  
Activity Book 

Includes  
TEA Chart

  3Identical program, except without printed course notes; 
available for DynaNotes Digital Subscribers only.

1401 Broadway St., Ste. 100, Marble Falls, TX 78654, Ph: 877.361.0550, F: 877.361.1197, sales@dynanotes.com, www.dynanotes.com

1May be copied by one teacher for his/her classroom use only.
2Thumb drive for CD upgrade: add $8.95 to price; add “-td” to order code.


